REMOVAL INSTALLATION CLEARANCES IL FILLTUBE LOCATIONS.
FOR REQUIREMENTS
PART/ASSEMBLY DIMENSION DIRECTION % DESCRIPTION SEE DRAWING ASBa 465
EXTERNAL OIL FILTER CLEARANCE REQUIRED FROM FILTER- ~ OR AS64-466.
100 [3.941 VERTICAL CONVERTER HOUSING SPLITLINE. NG MACHINING LUGS USED FOR MANUFACTURING.
OIL PAN CLEARANCE REQUIRED FROM OIL PAN-MAIN T THESE LUGS MAY BE USED AS TIE-DOWN POINTS
240 [9.451 VERTICAL CASE SPLITLINE. 196.0 FOR HARNESSES, ETC. HOWEVER, THEY WERE NOT DESIGNED
/ TO PROVIDE STRUCTURAL SUPPORT FOR ANCILLARY EQUIPMENT.
SPEED SENSORS 75 [ 2.95 1 PERPEND 1 CULAR CLEARANCE REQUIRED FROM SPEED [7.72] i ] THEREFORE THEIR USE TO SUPPORT ANY SIGNIFICANT MASS
: SENSOR-TRANSMISSION MOUNTING SURFACE . MOUNTING PAD MAY BE LIMITED. THESE LIMITATIONS MAY INCLUDE THE
MAIN TRANSMISSION CLEARANCE REQUIRED FROM (BOTH SIDES) ! REQUIREMENT FOR EVALUATING POSSIBLE SYSTEM VIBRATIONS,
CONNECTOR 1880 [7.091 HORIZONTAL CONNECTOR- TRANSMISSION MOUNT ING SURFACE . ild %EE?&B& QEMEEEEQTQE?SEIQEFBQQDTQIET%TIﬁgN;ABESTgﬁR
S TRANSHISSION VIEWED FROW SIDE - 1 - B WHICH USES THE MACHINING LUGS FOR THIS PURPOSE.
TE§?= y SEE DRAWING AS64-431 FOR DESCRIPTION AND LOCATIONS.
L84.0
S ‘ & [z.52]
|
BREATHER
- s521.4 I
INPUT SPEED SENSORAJ///// 20.53 QLB O A Eaa -
SEE BRRYING 7507405 E ] SEE DRAWING AS64-410
FOR LOCATI
SEE DRAWING ASB4-431
711.4
A [z8.01] TURBINE SPEED SENSOR
SEE DRAWING AS07-405,
TRANSMISSION MOUNTING FACE -
LRANSMISSTON MOSN 597.8 FOR LOCATION, SEE DRAWING AS64-431.
[23.53]
WIRING HARNESS ATTACHMENT LOCATION
FOR ADAPTATION REQUIREMENTS 565.3 //_SEE DRAWING ASG4-431
OF SAE NO. 3 CONVERTER HOUSING [22.25]
SEE DRAWING ASB4-423 . OUTPUT SPEED SENSOR
lk—337.9 SEE DRAWING AS07-405,
[15.50] FOR LOCATION, SEE DRAWING AS64-431. DIRECTION OF OUTPUT
FOR INSTALLATION OF BOLTS : SHAFT ROTATION IS SHOWN
WHICH MOUNT TRANSMISSION FOR FORWARD GEAR
[ %) TO ENGINE. B ["
5 ©10.75-11.25 [ .423-.443 ]
20 PLACES
FOR LOCATIONS, SEE DRAWING !
AS64-423 ® 451.8 = T STANDARD PARK BRAKE REAR COVER SHOWN.
5 [17.79] 145.0 FOR REAR COVER DETAILS
. 138.7 [5.71] AND FOR OTHER OPTIONS,
o o-EB0 [5.50] . SEE DRAWING ASB4-450.
SO
5 - 4 - K
3 oS0
O
281.0 5050 >
[11.08] [8.07] 1
J l MAIN TRANSMISSION CDNNECTDR
SEE DRAWING AS07-4
2 & WIRING HARNESS ATTACHMENT LOCATION. FOR CONTROLS SYSTEM SCHEMATIC
DIRECTION OF INPUT ROTATION SEE DRAWING AS64-431. SEE DRAWING ASQ7-4Z21.
AW % S\ Y/
B e "\__DEEP OIL PAN SHOWN. FOR OIL PAN DETAILS
_J,////«14o 55— AND FILLTUBE/DIPSTICKREQUIREMENTS, SEE DRAWING
CONTROL -MAIN ASB4-465 (DEEP OIL PAN] OR
OIL FILTER [5.53] SHIELD ATTACHMENT LOCATIONS. AS64-466 (SHALLOW OIL PAN)
USE M8 SELF-TAPPING SCREW.
MAXIMUM SCREW PENETRATION INTO CONVERTER C |UPDATED TO LATEST HARDWARE
111.0 HOUSING FOLE 15 240 S DMEHINING LG (300 ron wwmrerse. o 0T
[4.37] glgixggSSCREw THREAD ENGAGEMENT IS 16.0 [ .B31. BY THE VEHICLE BUTLDER" WAS #CUSTOMER FURNISHED™
SEE SELF-TAPPING SCREW REQUIREMENTS REMOVED "CENTER'OF GRAVITY. ..! NOTE
ADDED "STANDARD PARK BRAKE..." CALLOUT
30.2 REMOVED "QUTPUT SHAFT - SEE DRAWING AS64-440..." NOTE
MAIN PRESSURE TAP PLUG ET¥TT§%SNgEE ;?EQLEB PORTS SEE VIEW A™ WAS "COOLER
[1 - 19] nggaéﬂ%ou'}g-fg IEINCH[ 7551901 ELSB TFHTDJ REVISED MODEL BLOCK "1000/2000 PRODUCT FAMILIES" HAS
_ (7 R
SELF-TAPPING SCREW REQUIREMENTS: _\\ B iEEEEHEETEE "SELF TAPPINB SCREW REQUIREMENTS: R
HEX WASHER-HEAD THREAD-FORMING SCREW @ 73.8 N i ADDED
DIN 7500 - TYPE D HEAD | AND "REFER TO THE SUPPORT EOUIPMENT SECTION.
DIN 933, BN3326 ZINC PLATED [2.90] REVISED "INPUT SPEED SENSOR™ CALLOUT —
M8 X 1.25 X VARIOUS LENGTHS P REVISED "TURBINE SPEED SENSOR" CALLOUT N
T 179.5 ASQ7-405 WAS ASE4-405 . (@]
TORQUE M8 X 1.25 SELF-TAPPING SCREWS 112.0 ¥ [7.07] o O SEEED SENSOR™ CALLOUT ~
AT LOCATION SHOWN TO 20-30 N'm Q0.0 N . REVISED MA]N TRANSMISSION CONNECTOR™ CALLOUT !
(15-22 LB-FT) |:4.,4l:| \§ AS07-405 WAS 05 <
[3:54] REVISED SH]ELD ATTACHMENT LOCATIONS® " NOTE (0}
l v "SEE SELF-TAPPING SCREW REQUIREMENTS™ W/-\S %)
REFER TO THE SUPPORT EQUIPMENT SECTION = -——F REEJ?S%N?S"SS" 431 FOR SELF-TAPPING SCREW <
N\
5.3
[2.22] \ . PARENTHESES WAS PARENTHESTS’ ==
TORQUES SHOWN ARE FOR PLAIN (NON-PLATED) A | VIOSTINT B 7.5 SEE SHEET 2 N
FASTENERS AND OTHER THREADED COMPONENTS 85.0— [7.07] ALLISON 4th A |SEE SHEET 2 lmmﬁp¢g
SUPPLIED AND INSTALLED BY THE VEHICLE BUILDER. [3.35] GENERATION Rev DESCRIFTION DATE [N
TORQUE REQUIREMENTS SHOULD BE REVIEWED IF . o) l CONTROLS FRZ I — REVISIONS
PLATED FASTENERS WILL BE USED. UG | Mmoo 17wos Q) Alzson, Trapsmussion
ITER GENERATED DATA CKED ¥.F10CK </ i, Ttiionn
CONSULT THE SUPPLIER. L BOLT FOR RETAINING OIL PAN TO TRANSMISSION - J CHANGE RESTRICTED ﬁﬁ%%gg%mﬁa__
FOR TRANSMISSION SPECIFICATIONS NOT SHOWN, DO NOT REMOVE OR USE TO ATTACH AUXILIARY VETRIC B INSTALLATION DRAWING -
REFER TO "TRANSMISSION SPECIFICATION™ SECTION. EQUIPMENT TO TRANSMISSION Fro). Bes. wriowe | BASIC, SAE NO.3 (TWO PIECE)
COOLER PORTS 12 PLACES AROUND PERIPHERY OF PAN DATE towvos | CONVERTER HOUSING
ALL EXTERNAL CONTROLS REQUIRE ALLISON TRANSMISSION SEE VIEW A THIRD ANGLE €§§}—{EEEET oATE 1auvos
ENGINEERING APPROVAL. FOR SHIFT SELECTOR AND DIMENSIONS SHOWN IN PARENTHESES ARE IN WODEL | 500,2000 PRODUCT FAMIL IES
CABLE SYSTEM DESIGN REQUIREMENTS, SEE TECHNICAL INCHES AND ARE FOR REFERENCE ONLY IV NPORNTION EOVAICD VEFEIN (S PROPICIN MO IE STZETCAGE CODE [OWG 1O
DOCUMENT 177 (TD-1771. DWG. NO. LTRISH | e R zsmnmawﬂmsumanmmsnrm -
‘ FR 1 ‘ A564 _ 402 ‘ C | 1 m:ﬁgzgﬁm’#ﬁganmmsmm BEIEIIIRIPJ\IMMTBI R 73342 A564 402
ALITHGBNZARAEMOESTER. ALL ISON TRANSHISSION DIYISION. SCALE NONE [SHEET 1 oF 2
L UNIGRAPHICS




ASB4-402 |

240.0
[9.45]
%14.0
[.55]
BOTH SIDES OIL FILLTUBE MOUNTING
BRACKET LOCATION
Y, v : » (BOTH SIDES)
SEE DRAWING AS64-465
OR ASB4-486
135.0—+
f N 88.0 [5.31]
SAE 6-BOLT POWER
E 3 [3.46] TAKE -OFF MOUNT ING
PAD (BOTH SIDES) —70.0
SEE DRAWING AS64-480 MOUNT ING PAD
[2.76] (BOTH SIDES]
™ M2 X 1.75-6H
-y | REQUIRED THREAD ENGAGEMENT: 24.0-26.5 [ .94-1.04 1.
PROVISION FOR LIFTING USE 1SO GRADE 10.9 BOLTS.
TRANSMISS 10N TORQUE TO 90-110 N'm (66-81 LB-FT1¥
(BOTH SIDES) 4 PLACES (BOTH SI1DES)
SECTION B-B )
—59.5
OUTPUT SHAFT - SEE DRAWING AS64-440 (2.34]
FOR AVAILABLE OUTPUT FLANGES - SEE DRAWING ASS4-441 Y =75
FOR AVAILABLE OUTPUT YOKES - SEE DRAWING AS64-442 n j
S - 1 _
o0
—28.2  218.5
[1.11] [8.60]
L/
MAIN TRANSMISSION CONNECTOR @ -
SEE DRAWING AS07-405.
FOR LOCATIONS, SEE N \ g/
111.0 TO COOLER LOCATION DRAWING AS64-431 OOLER PORTS
[4.37]
RIGHT SIDE VIEW
” ” A 59~ ‘ WIRING HARNESS
@KMQ ATTACHMENT LOCATIONS,
H ﬂéé SEE DRAWING AS64-431
@ 7[1871% 299
@jslo|
fm
=
@ |
23
-
. COOLER CIRCUIT PORTS
FOR COOLER CIRCUIT REQUIREMENTS = "
\| SEE DRAWING AS64-471 © | REY T Reg ER oGy Y Tr - TPORTST WAS
CELLEED BT oo FOTS” was
ADDED "QUTPUT SHAFT -..." CALLOUT [21MRo7 [RewF|
B |REVISED "MAIN TRANSMISSION CONNECTOR"™ NOTE
AS07-405 WAS ASB4-405
REVISED "DIMENSIONS SHOWN...™ NOTE
L | PARENTHESES WAS PARENTHESIS ZBJADS‘RHl.JH
A |REVISED COOLER CIRCUIT FITTING NOTE IBNODS}EE‘
J OOLER RETURN LOCATION IREV| DESCRIPTION DATE  |D¥N[CHK|
| ‘ FR? REVISIONS
DRAWN R.HIGGINS
ALLISON e @ Tl L O e mnapeson
GENERATION _ CHANGE RESTRICTED DATE 10l IDQCHNABEL
AereovED K, SFNABEL |
VIEW A CONTROLS METRIC EETTﬁMﬁ_____ INSTALLATION DRAWING -
Fro.. Evon. W.FT0CK BASIC, SAE NO.3 (TWO PIECE)
[RPPL- ENoR. BLADD | CONVERTER HOUS ING
DIMENSIONS SHOWN IN PARENTHESES ARE IN |THIRD ANGLE {gg}—{zzzz} oATE _1oMY04
INCHES AND ARE FOR REFERENCE ONLY MODEL  1000,/2000 PRODUCT FAMILIES
THE INFORMATION CONTAINED HEREIN IS PROPRIETARY AND THE IGTZE] CAGE CODE |DWG NO
PROPERTY OF ALL[SON TRANSMISSION, GENERAL MOTORS CORPORATION
FR] DWG. NO. TR | R e e - uprar - To o o, (ot P LIS R| 73342 ASB4-402
A564 _ 402 C 2 Hi;gf?gu:g\l%a.“ SPECIFIC WRITTEN AUTHORIZATION OF SCALE NONE |5HEET B
UNIGRAPHICS

T

DWG
NO






